Program # 44

Effective Date: October 3, 2016 - September 25, 2017

F.O.B: Alva, FL

Syngenta – UNROOTED MUM, ASTER, & DAISY

Program includes

- Yoder Garden, Fleurette, & Pot Mums
- Garden Asters & Montauk Daisy
- Reliable distribution channels

Item#	Tag Rule V	ariety/	,	Tray Description	Tray Count	Price Each	Price Tray
44-73177-URCO	T3 A	STER	EARLY BELIEVER PURPLE	UNROOTED CUTTINGS	100	0.294	\$29.40
44-73062-URCO	T3 A	STER	EARLY DAYDREAM LAVENDER	UNROOTED CUTTINGS	100	0.294	\$29.40
44-74860-URCO			EARLY DAYS BLUE	UNROOTED CUTTINGS	100	0.294	\$29.40
44-74861-URCO			EARLY HAZY DARK PINK	UNROOTED CUTTINGS	100	0.294	\$29.40
44-77964-URCO			EARLY HENRY I BLUE	UNROOTED CUTTINGS	100	0.294	\$29.40
44-77947-URCO	T3 A	STER	EARLY HENRY I PINK	UNROOTED CUTTINGS	100	0.294	\$29.40
44-77948-URCO	T3 A	STER	EARLY HENRY I PURPLE	UNROOTED CUTTINGS	100	0.294	\$29.40
44-76519-URCO	T3 A	STER	LATE HENRY III PINK	UNROOTED CUTTINGS	100	0.294	\$29.40
44-73179-URCO	T3 A	ASTER	LATE HENRY III PURPLE	UNROOTED CUTTINGS	100	0.294	\$29.40
44-73181-URCO	T3 A	STER	LATE MARIE III DARK PINK	UNROOTED CUTTINGS	100	0.294	\$29.40
44-73063-URCO	T3 A	STER	LATE PETER III BLUE	UNROOTED CUTTINGS	100	0.294	\$29.40
44-77965-URCO	T3 A	STER	VERY EARLY DRAGON (Bold Blue)	UNROOTED CUTTINGS	100	0.294	\$29.40
44-76521-URCO	T3 A	STER	VERY EARLY MAGIC PINK	UNROOTED CUTTINGS	100	0.294	\$29.40
44-84334-URCO	T3 A	STER	VERY EARLY MAGIC PURPLE	UNROOTED CUTTINGS	100	0.294	\$29.40
44-67275-URCO	T3 A	STER	VERY EARLY PUFF WHITE	UNROOTED CUTTINGS	100	0.294	\$29.40
44-73182-URCO	T3 N	MONT	AUK DAISY NIPPONANTHEMUM NIPPONICUM	UNROOTED CUTTINGS	100	0.296	\$29.60
44-31229-URCO *	ŧ T3 N	MUN	BRONZE 6 LATE SEASON EXTENDER YODER RHONDA BRONZE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-61443-URCO	T3 N	MUN	BRONZE 6 LATE SEASON EXTENDER YODER STEPHANY BRONZE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-71487-URCO	T3 N	MUN	CORAL 2 EARLY YODER FIONA CORAL ORANGE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-78105-URCO	T3 N	MUN	CORAL 2 EARLY YODER JACQUELINE PEACH FUSION (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-77956-URCO	⇔ T3 N	MUN	CORAL 2 EARLY YODER JAZZY URSULA CORAL (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-82046-URCO	⇔ T3 N	MUN	CORAL 3 MIDSEASON YODER GIGI CORAL (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-84323-URCO	⇔ T3 N	MUN	CORAL 4 LATE YODER CHELSEY CORAL (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-85777-URCO	⇔ T3 N	MUN	CORAL 4 LATE YODER SUSAN CORAL PINK (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-80216-URCO	T3 N	MUN	FLEURETTE ADELLE (White/Spoon)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-80220-URCO	T3 N	MUN	FLEURETTE CHANTAL HOT RED (Red Daisy)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-80219-URCO	T3 N	MUN	FLEURETTE FIFI HOT PINK (Pink Daisy)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-87893-URCO	T3 N	MUN	FLEURETTE GENEVIEVE PURPLE BICOLOR	UNROOTED CUTTINGS	100	0.289	\$28.90
44-80212-URCO	T3 N	MUN	FLEURETTE LISETTE (Bright Yellow Daisy)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-80218-URCO	T3 N	MUN	FLEURETTE LUCIENNE YELLOW (Yellow Duplex Daisy)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-87892-URCO	T3 N	MUN	FLEURETTE SABINE BRONZE Daisy)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-80221-URCO	T3 N	MUN	FLEURETTE SYLVIE WHITE (Daisy)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-31198-URCO *	ŧ T3 N	MUN	ORANGE 1 VERY EARLY YODER KEELEY ORANGE	UNROOTED CUTTINGS	100	0.289	\$28.90
44-53500-URCO *	ŧ T3 N	MUN	ORANGE 3 MIDSEASON YODER BEVERLY ORANGE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-77953-URCO	⇔ T3 N	MUN	ORANGE 3 MIDSEASON YODER FANCY URSULA ORANGE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-76516-URCO	T3 N	MUN	ORANGE 3 MIDSEASON YODER FIONA NUTTY BRONZE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-82047-URCO	⇔ T3 N	MUN	ORANGE 3 MIDSEASON YODER GIGI ORANGE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-67436-URCO	T3 N	MUN	ORANGE 3 MIDSEASON YODER HANNAH ORANGE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-77954-URCO	T3 N	MUN	ORANGE 3 MIDSEASON YODER JACQUELINE ORANGE FUSION (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-80105-URCO	T3 N	MUN	ORANGE 4 LATE YODER AUBREY ORANGE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-87764-URCO	⇔ T3 N	MUN	ORANGE 4 LATE YODER BEVERLY BRONZE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-67461-URCO			ORANGE 4 LATE YODER DAZZLING STACY ORANGE (Daisy)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-82052-URCO	T3 N	MUN	ORANGE 4 LATE YODER HAILEY ORANGE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-71489-URCO			ORANGE 4 LATE YODER MIRANDA ORANGE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-85775-URCO		MUN	ORANGE 5 EARLY SEASON EXTENDER MAKENNA ORANGE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-73168-URCO			ORANGE 5 EARLY SEASON EXTENDER YODER ASHLEY DARK ORANGE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-67462-URCO	⇔ T3 N	MUN	ORANGE 5 EARLY SEASON EXTENDER YODER CHERYL SPICY ORANGE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-53292-URCO *			ORANGE 5 EARLY SEASON EXTENDER YODER YVETTE ORANGE BICOLOR (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-31218-URCO *			ORANGE 6 LATE SEASON EXTENDER YODER NIKKI ORANGE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-73172-URCO			PINK 2 EARLY YODER JACQUELINE PINK (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-77959-URCO			PINK 3 MIDSEASON YODER BETH VIOLET (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-84324-URCO			PINK 3 MIDSEASON YODER CHELSEY PINK (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-82049-URCO			PINK 3 MIDSEASON YODER GIGI DARK PINK (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-77957-URCO			PINK 3 MIDSEASON YODER MARSHA PINK (Daisy)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-80222-URCO			PINK 3 MIDSEASON YODER URSULA LAVENDER (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-73167-URCO			PINK 4 LATE YODER ALISHA DARK PINK (Daisy)	UNROOTED CUTTINGS		0.289	\$28.90
			())				,==:==



Тад	Trav	Tray	Price	Price
Tag Item# Rule Variety	Tray Description	Count	Each	Tray
44-67358-URCO T3 MUM PINK 4 LATE YODER STACY PINK (Pink/White/Daisy)	UNROOTED CUTTINGS	100	0.289	\$28.90
44–67349-URCO	UNROOTED CUTTINGS	100	0.289	\$28.90
44-67345-URCO 🌣 T3 MUM PINK 5 EARLY SEASON EXTENDER YODER CHERYL REGAL PURPLE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-74871-URCO T3 MUM PINK 5 EARLY SEASON EXTENDER YODER WANDA LAVENDER (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-80112-URCO T3 MUM PINK 5 EARLY SEASON EXTENDER YODER WANDA PURPLE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-31213-URCO * T3 MUM PINK 6 LATE SEASON EXTENDER YODER NIKKI DARK PINK (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-31233-URCO * T3 MUM PINK 6 LATE SEASON EXTENDER YODER RHONDA PINK (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-31167-URCO * T3 MUM PURPLE 1 VERY EARLY YODER ARLETTE PURPLE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-84329-URCO T3 MUM PURPLE 3 MIDSEASON YODER DANIELLE PURPLE (Decorative) 44-85778-URCO T3 MUM PURPLE 3 MIDSEASON YODER PATTY PURPLE (Decorative)	UNROOTED CUTTINGS UNROOTED CUTTINGS	100	0.289	\$28.90 \$28.90
44-85772-URCO T3 MUM PURPLE 5 EARLY SEASON EXTENDER YODER EMELDA PURPLE (Semi-Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-31236-URCO * T3 MUM PURPLE 6 LATE SEASON EXTENDER YODER RHONDA PURPLE	UNROOTED CUTTINGS	100	0.289	\$28.90
44-80104-URCO T3 MUM RED 1 VERY EARLY YODER AIDEEN RED FIRE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44–73169-URCO T3 MUM RED 1 VERY EARLY YODER BONNIE RED (Daisy)	UNROOTED CUTTINGS	100	0.289	\$28.90
44–67353-URCO T3 MUM RED 2 EARLY YODER HELEN MAROON (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-84330-URCO 🌣 T3 MUM RED 3 MIDSEASON YODER DANIELLE RED (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-80109-URCO ♥ T3 MUM RED 3 MIDSEASON YODER HESTIA HOT RED (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-31227-URCO * T3 MUM RED 3 MIDSEASON YODER PATTY POMEGRANATE	UNROOTED CUTTINGS	100	0.289	\$28.90
44–67423-URCO	UNROOTED CUTTINGS	100	0.289	\$28.90
44-31174-URCO * T3 MUM RED 4 LATE YODER CHRISTINA RED (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-80107-URCO 🌣 T3 MUM RED 4 LATE YODER EDANA RED (Daisy)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-67438-URCO 🌣 T3 MUM RED 4 LATE YODER TABITHA SCARLET (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-31169-URCO * T3 MUM RED 5 EARLY SEASON EXTENDER YODER ASHLEY RED	UNROOTED CUTTINGS	100	0.289	\$28.90
44-61442-URCO T3 MUM RED 5 EARLY SEASON EXTENDER YODER EMELDA RED (Semi-Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-73174-URCO T3 MUM RED 5 EARLY SEASON EXTENDER YODER JOLLY CHERYL RED (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44–67335-URCO T3 MUM RED 5 EARLY SEASON EXTENDER YODER RAQUEL RUBY RED (Decorative) 44–84333-URCO ♣ T3 MUM RED 5 EARLY SEASON EXTENDER YODER WANDA RED (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90 \$28.90
44-82055-URCO T3 MUM RED 5 EARLT SEASON EXTENDER YODER KATHLEEN DARK RED (Decorative)	UNROOTED CUTTINGS UNROOTED CUTTINGS	100	0.289	\$28.90
44-31238-URCO * T3 MUM RED 6 LATE SEASON EXTENDER YODER RHONDA RED	UNROOTED CUTTINGS	100	0.289	\$28.90
44-31248-URCO * T3 MUM WHITE 6 LATE SEASON EXTENDER YODER RHONDA WHITE	UNROOTED CUTTINGS	100	0.289	\$28.90
44–82058-URCO T3 MUM WHITE 1 VERY EARLY YODER EDITH WHITE (Anemone)	UNROOTED CUTTINGS	100	0.289	\$28.90
44–87814-URCO T3 MUM WHITE 1 VERY EARLY YODER SHANNON WHITE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44–82060-URCO T3 MUM WHITE 3 MIDSEASON YODER BERTHA WHITE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-84325-URCO ♥ T3 MUM WHITE 3 MIDSEASON YODER CHELSEY WHITE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-82048-URCO 🌣 T3 MUM WHITE 3 MIDSEASON YODER GIGI SNOW (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-77952-URCO T3 MUM WHITE 3 MIDSEASON YODER JACQUELINE PEARL (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-74870-URCO 🌣 T3 MUM WHITE 3 MIDSEASON YODER VANNA SNOW (Daisy)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-73060-URCO T3 MUM WHITE 4 LATE YODER WILMA WHITE (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-77950-URCO T3 MUM WHITE 5 EARLY SEASON EXTENDER YODER FROSTY CHERYL (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-85776-URCO T3 MUM WHITE 5 EARLY SEASON EXTENDER YODER MAKENZIE WHITE (Decorative)	UNROOTED CUTTINGS		0.289	\$28.90
44-76512-URCO T3 MUM WHITE 6 LATE SEASON EXTENDER YODER MILDRED WHITE (Decorative)	UNROOTED CUTTINGS		0.289	\$28.90
44-85766-URCO T3 MUM YELLOW 1 VERY EARLY YODER BRITTANY YELLOW (Decorative) 44-80108-URCO T3 MUM YELLOW 1 VERY EARLY YODER ELECTRA AMBER (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90 \$28.90
44-71481-URCO T3 MUM YELLOW 1 VERY EARLY YOUER MICHELLE GOLD (Daisy)	UNROOTED CUTTINGS UNROOTED CUTTINGS	100	0.289	\$28.90
44-77955-URCO T3 MUM YELLOW 3 MIDSEASON YODER BERNADETTE YELLOW (Anemone)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-84326-URCO T3 MUM YELLOW 3 MIDSEASON YODER CHELSEY YELLOW (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-71480-URCO T3 MUM YELLOW 3 MIDSEASON YODER DAWN YELLOW (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44–74863-URCO T3 MUM YELLOW 3 MIDSEASON YODER ELENA GOLD (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44–74866-URCO ♥ T3 MUM YELLOW 3 MIDSEASON YODER GIGI GOLD (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-82050-URCO 🌣 T3 MUM YELLOW 3 MIDSEASON YODER GIGI YELLOW (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-77963-URCO T3 MUM YELLOW 3 MIDSEASON YODER JACQUELINE YELLOW (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-82063-URCO T3 MUM YELLOW 3 MIDSEASON YODER OLGA YELLOW (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44–67411-URCO 🌣 T3 MUM YELLOW 3 MIDSEASON YODER SUNNY URSULA (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-76517-URCO 🌣 T3 MUM YELLOW 3 MIDSEASON YODER YOLANDA YELLOW (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-71479-URCO T3 MUM YELLOW 4 LATE YODER HANKIE YELLOW (Daisy)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-67343-URCO T3 MUM YELLOW 4 LATE YODER MARY YELLOW (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-67391-URCO T3 MUM YELLOW 4 LATE YODER OKRA (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-74867-URCO T3 MUM YELLOW 4 LATE YODER SUNNY MONICA (Anemone)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-77958-URCO T3 MUM YELLOW 4 LATE YODER WILMA YELLOW (Decorative) 44-71476-URCO T3 MUM YELLOW 5 EARLY SEASON EXTENDER YODER BETHANY YELLOW (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90 \$28.90
44–73061-URCO T3 MUM YELLOW 5 EARLY SEASON EXTENDER YOUER BETHANY YELLOW (DECOLATIVE)	UNROOTED CUTTINGS	100	0.289	\$28.90
44–67424-URCO This mum yellow 5 EARLY SEASON EXTENDER YOUER GOLDEN CHERYL (Decorative)	UNROOTED CUTTINGS UNROOTED CUTTINGS	100	0.289	\$28.90
44-85774-URCO T3 MUM YELLOW 5 EARLY SEASON EXTENDER YODER MAKAYLA YELLOW (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-80111-URCO T3 MUM YELLOW 6 LATE SEASON EXTENDER YODER MILDRED YELLOW (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44-31224-URCO * T3 MUM YELLOW 6 LATE SEASON EXTENDER YODER NIKKI YELLOW (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
44–31262-URCO * T3 MUM YELLOW 6 LATE SEASON EXTENDER YODER RHONDA YELLOW	UNROOTED CUTTINGS	100	0.289	\$28.90
44-61444-URCO T3 MUM YELLOW 6 LATE SEASON EXTENDER YODER STEPHANY YELLOW (Decorative)	UNROOTED CUTTINGS	100	0.289	\$28.90
·				



Item#	Tag Rule Variety	Tray Description	Tray Count	Price Each	Price Tray		
••••••			• • • • • •	•••••	•••••		
POT MUMS							
44-80114-URCO	T3 MUM POT APPLE VALLEY (Pink/Lavender/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80116-URCO	T3 MUM POT AUBURN ORANGE (Orange Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80168-URCO	T3 MUM POT AUBURN RED (Red Daisy)	UNROOTED CUTTINGS		0.306	\$30.60		
44-74935-URCO 44-80199-URCO	T3 MUM POT BATON ROUGE (Red Bicolor/Daisy) T3 MUM POT BLOOMFIELD YELLOW (Yellow/Decorative)	UNROOTED CUTTINGS UNROOTED CUTTINGS		0.306	\$30.60 \$30.60		
44-80115-URCO	T3 MUM POT BLUSH APRICOT (Coral/Salmon Daisy)	UNROOTED CUTTINGS		0.306	\$30.60		
44-80129-URCO	T3 MUM POT BLUSH DARK PINK (Pink/Lavender Daisy)	UNROOTED CUTTINGS		0.306	\$30.60		
44-80159-URCO	T3 MUM POT BLUSH ORANGE (Orange/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80163-URCO	T3 MUM POT BLUSH PINK (Pink/Lavender/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80183-URCO	T3 MUM POT BLUSH SUNNY (Yellow Daisy)	UNROOTED CUTTINGS		0.306	\$30.60		
44-80189-URCO	T3 MUM POT BLUSH WHITE (White Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80191-URCO 44-80119-URCO	T3 MUM POT BLUSH YELLOW (Yellow Daisy) T3 MUM POT BRIGHTON (Yellow Daisy)	UNROOTED CUTTINGS		0.306	\$30.60 \$30.60		
44-80119-URCO	T3 MUM POT BRIGHTON (Yellow Daisy) T3 MUM POT BRUNSWICK (White/Daisy)	UNROOTED CUTTINGS UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80121-URCO	T3 MUM POT BUTTERFIELD (Yellow Daisy)	UNROOTED CUTTINGS		0.306	\$30.60		
44-80122-URCO	T3 MUM POT CHATHAM DARK PINK (Pink/Lavender/Decorative)	UNROOTED CUTTINGS		0.306	\$30.60		
44-80160-URCO	T3 MUM POT CHATHAM ORANGE (Decorative)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80123-URCO	T3 MUM POT CHESAPEAKE (Yellow/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-87872-URCO	T3 MUM POT CHINA DOLL (Red/Decorative)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80485-URCO	T3 MUM POT CHOWCHILLA YELLOW (Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80942-URCO	T3 MUM POT CLEARVIEW WHITE (Daisy)	UNROOTED CUTTINGS		0.306	\$30.60		
44-80125-URCO 44-80133-URCO	T3 MUM POT COVINGTON (Yellow/Decorative) T3 MUM POT DEEP PRESIDO (Pink/Lavender/Decorative)	UNROOTED CUTTINGS	100	0.306	\$30.60 \$30.60		
44-80133-URCO	T3 MUM POT DEEP PRESIDO (PINIO/Lavender/Decorative) T3 MUM POT DELANO (Purple/Burgundy Decorative)	UNROOTED CUTTINGS UNROOTED CUTTINGS		0.306	\$30.60		
44-80169-URCO	T3 MUM POT DELANO RED (Red/Decorative)	UNROOTED CUTTINGS		0.306	\$30.60		
44-80182-URCO	T3 MUM POT DELANO SPRING PINK BICOLOR (Lavender/White/Decorative)	UNROOTED CUTTINGS		0.306	\$30.60		
44-87873-URCO	T3 MUM POT DURANGO BRONZE (Decorative)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80196-URCO	T3 MUM POT DURANGO HONEY (Yellow/Decorative)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80203-URCO	T3 MUM POT DURANGO YELLOW (Yellow/Decorative)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80197-URCO	T3 MUM POT EMPORIA GOLDEN (Yellow/Daisy Spoon)	UNROOTED CUTTINGS		0.306	\$30.60		
44-87874-URCO	T3 MUM POT EMPORIA ORANGE (Orange/Bronze/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80135-URCO 44-80136-URCO	T3 MUM POT ENCINO (Red/Anemone/Spoon) T3 MUM POT ESSEX (Purple Daisy)	UNROOTED CUTTINGS UNROOTED CUTTINGS	100	0.306	\$30.60 \$30.60		
44-80943-URCO	T3 MUM POT ESTES PARK PURPLE BICOLOR	UNROOTED CUTTINGS		0.306	\$30.60		
44-64673-URCO	T3 MUM POT FAIRBANKS PURPLE (Purple Spoon)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80139-URCO	T3 MUM POT FIRE ISLAND (Red/Yellow Bicolor/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80141-URCO	T3 MUM POT GOLDEN GATE (Yellow/Decorative Incurve)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-87876-URCO	T3 MUM POT GRANDVIEW LIGHT PINK (Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-64333-URCO	T3 MUM POT GRANDVIEW PINK (Pink Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80143-URCO	T3 MUM POT GREEN VALLEY (Green/Anemone)	UNROOTED CUTTINGS		0.306	\$30.60		
44-87877-URCO 44-80202-URCO	T3 MUM POT HILO FUSCHIA (Purple/Daisy) T3 MUM POT HILO MANGO (Coral/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60 \$30.60		
44-80202-URCO 44-87878-URCO	T3 MUM POT HILD MANGO (COIGIT Daisy) T3 MUM POT HILD TANGERINE (Orange/Bronze/Daisy)	UNROOTED CUTTINGS UNROOTED CUTTINGS		0.306	\$30.60		
44-80145-URCO	T3 MUM POT HOLLISTER (Yellow/Daisy)	UNROOTED CUTTINGS		0.306	\$30.60		
44-80146-URCO	T3 MUM POT HUDSON BAY (Red Bicolor/Daisy)	UNROOTED CUTTINGS		0.306	\$30.60		
44-80127-URCO	T3 MUM POT IRVINE CURRANT (Coral/Salmon/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80170-URCO	T3 MUM POT IRVINE RED (Red/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80172-URCO	T3 MUM POT IRVINE REGAL (Purple/Daisy)	UNROOTED CUTTINGS		0.306	\$30.60		
44-80173-URCO	T3 MUM POT JAMESTOWN REGAL (Purple/Decorative)	UNROOTED CUTTINGS		0.306	\$30.60		
44-80148-URCO	T3 MUM POT JUNEAU (White/Daisy) T3 MUM POT KEY LARGO (Yellow/Anemone)	UNROOTED CUTTINGS		0.306	\$30.60 \$30.60		
44-80149-URCO 44-80150-URCO	T3 MUM POT KET LARGO (Tellow/Alternolle) T3 MUM POT KINGSVILLE (Yellow/Decorative)	UNROOTED CUTTINGS UNROOTED CUTTINGS		0.306	\$30.60		
44-82128-URCO	T3 MUM POT LA BELLE DARK PINK BICOLOR	UNROOTED CUTTINGS		0.306	\$30.60		
44-80201-URCO	T3 MUM POT LEMON SPRINGS (Yellow/Anemone)	UNROOTED CUTTINGS		0.306	\$30.60		
44-87879-URCO	T3 MUM POT LIMERICK LIME (Decorative)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-80155-URCO	T3 MUM POT MANHATTAN (Yellow/Decorative)	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-64457-URCO	T3 MUM POT MILTON BRONZE BICOLOR	UNROOTED CUTTINGS		0.306	\$30.60		
44-64341-URCO	T3 MUM POT MILTON DARK PINK	UNROOTED CUTTINGS		0.306	\$30.60		
44-64345-URCO	T3 MUM POT MILTON ORANGE (Patented)	UNROOTED CUTTINGS		0.306	\$30.60		
44-64455-URCO 44-64456-URCO	T3 MUM POT MILTON PINK T3 MUM POT MILTON PINK BICOLOR	UNROOTED CUTTINGS UNROOTED CUTTINGS		0.306	\$30.60 \$30.60		
44-80118-URCO	T3 MUM POT NEW YORK BOLD LAVENDER (Pink/Lavender/Decorative)	UNROOTED CUTTINGS UNROOTED CUTTINGS		0.306	\$30.60		
44-80132-URCO	T3 MUM POT NEW YORK DAZZLING YELLOW (Yellow/Decorative)	UNROOTED CUTTINGS		0.306	\$30.60		
44-64458-URCO	T3 MUM POT NEWARK PINK BICOLOR	UNROOTED CUTTINGS	100	0.306	\$30.60		
44-87880-URCO	T3 MUM POT NEWPORT BRONZE (Bicolor Decorative)	UNROOTED CUTTINGS	100	0.306	\$30.60		



Item#	Tag Rule Variety	Tray Description	Tray Count	Price Each	Price Tray
44-80157-URCO	T3 MUM POT NOB HILL (White/Decorative Incurve)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-64459-URCO	T3 MUM POT OAKVILLE YELLOW (Decorative)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-80158-URCO	T3 MUM POT OLYMPIA (White/Decorative)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-80161-URCO	T3 MUM POT OTTAWA (White/Decorative)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-87881-URCO	T3 MUM POT OUTRAGEOUS RED (Decorative)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-80162-URCO	T3 MUM POT PELEE (Bronze/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-80198-URCO	T3 MUM POT PITTSBURGH PURPLE (Purple/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-80165-URCO	T3 MUM POT POINT PELEE (Red/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-80166-URCO	T3 MUM POT PROVIDENCE (Yellow/Decorative)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-80195-URCO	T3 MUM POT PUEBLO CINNAMON (Orange/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-80167-URCO	T3 MUM POT PUEBLO ORANGE (Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-87883-URCO	T3 MUM POT PUEBLO YELLOW	UNROOTED CUTTINGS	100	0.306	\$30.60
44-87882-URCO	T3 MUM POT PURPLE SPRINGS (Anemone Spoon)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-87884-URCO	T3 MUM POT RED SPRINGS (Anemone)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-80175-URCO	T3 MUM POT RENO (Bronze/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-87871-URCO	T3 MUM POT ROANOKE DARK PINK (Pink/Lavender/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-80176-URCO	T3 MUM POT ROANOKE PINK (Pink/Lavender/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-80177-URCO	T3 MUM POT ROCKPORT (Purple/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-80178-URCO	T3 MUM POT SANTA CRUZ (Red/Yellow/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-80206-URCO	T3 MUM POT SASKATOON WHITE (White/Decorative)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-87891-URCO	T3 MUM POT SEASIDE WHITE (White/Quill)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-80205-URCO	T3 MUM POT SHANGHAI (Red/Decorative)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-80179-URCO	T3 MUM POT SHASTA (White/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-82930-URCO	T3 MUM POT SPRINGDALE PURPLE	UNROOTED CUTTINGS	100	0.306	\$30.60
44-87887-URCO	T3 MUM POT STARLING PINK (Pink/Decorative)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-80185-URCO	T3 MUM POT TOBAGO (Red/Decorative)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-80188-URCO	T3 MUM POT VYRON (Yellow/Daisy)	UNROOTED CUTTINGS	100	0.306	\$30.60
44-69866-URCO	T3 MUM POT WILLIAMSBURG PURPLE	UNROOTED CUTTINGS	100	0.306	\$30.60

Shipping Season: Spring Season Garden Mum: Jan 2 - Sept 11 - indicated by 🌣

Garden Mum, Aster & Montauk: Apr 3 - Sept 11
Yoder Aster & Montauk Daisy: Apr 3 - Sept 11
Fleurette, & Pot Mum: Jan 2 - Dec 25

Packing & Minimum

Order Information: Each bag comes with a 4% overpack

Aster, Fleurette, & Garden Mum minimum: 2,000 cuttings

Minimum per variety: 100 cuttings Multiples per order: 2,000 cuttings Pot Mum minimum: 1,600 cuttings

> Minimum per variety: 100 cuttings Multiples per order: 1,600 cuttings

Orders under \$300 are welcome, please note they will be subject to a \$19.75 processing fee.

Lead Time: Orders should be booked as early as possible to ensure best availability.

Freight Charges: Freight charges will be added to the invoice.
Ship Methods: Federal Express Priority & Grower Truck

F.O.B.: Alva, FL

Box/Other Charges: Included in the price of the plants.

Patents & Royalties: All mum varieties are patented. A signed license is required to propagate mums. Please call us for more details.

Royalties are included in the price of the plants.

Tags: Tags are \$.03 each. You may request as little as 1 tag per 4 cuttings or no tags, but any choice must apply to the

entire order only. Tags will not be sent for just a portion of any order.

Tag Rules: T3 = Tag available on request

T4 = Tag not available

There will be a 50% restocking fee for all returned tags.

Discounts: Volume discounts are available for total annual mum volume and cannot be combined with other Syngenta

programs. Call for details.

Claims: Must be reported to Germania Seed Company within 48 hours after receiving plants.

Photos are requested to aid in assessing claims when possible.

Cancellations: Any URC order reductions and/or cancellations will be allowed up to 31 days prior to the

Monday of scheduled ship week.